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2. Consider the power series (z+3)"
n=1 \/ﬁ

(a) When z = —4 does this series converge or diverge?

(b) Determine all the values of z for which the series converges.

(c) What is the domain of the function f(z) =), (;\/2-7)771(33 +3)" ?
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" 8. Test the following series for convergence or divergence. State the test you are using, and verify
that the requirements are met. If possible, say whether it is absolutely convergent or conditionally

conveol;gent. . ‘ ” = lh y
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4. Consider the seri § — .
onsidaer € series . 1000n

(a) Write the fifth partial sum of this series in decimal form.

(b) Determine the sum of the series as a quotient of two integers.
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5. Consider the integral /:1: cos(z®) dz.

(a) Write down the Maclaurin series for cos(z), cos(z®), and z cos(z®). Either use ¥ notation or
write down enough terms so that the pattern is perfectly clear.

(b) Evaluate the integral / z cos(z®) dz as an infinite series.
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" 1. The real number 7 can be expressed as an infinite sum: 7 =
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(a) Express this formula for 7 using ¥ notation.
(b) Find the sum of the series 1 —%—i—%—%-}-é—---
(c) Find the sum of the series § — & + & — &5 +--+

(d) Find the sum of the series Y oo . (—1)n+12—nl;_g
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